
NET.WORK.PLACE    

           1 / 2 last updated 10/2015 

Media wall 
fitting desk top 

insert eccentric bolts 
and dowels socket head screws 

M8x70 (SW 6) 

(a)   
 

(b)   

(c)   
 

(d)   
 

Insert eccentric cam and 
lock in place. 
Place cap on eccentric 
cam (not shown). 

(c)   
 

socket head screws 
M8x70 (SW 6) 

insert eccentric bolts 
and dowels 



NET.WORK.PLACE    

         2 / 2 

(a) remove panel (b) fit flat screen holder 

(e) 
 

socket head screws 
M6x25 (SW 5) washers 

(d) position flat screen onto holder (c) fit brackets on flat screen 

Caution! 
Note the manufac- 
turer‘s user manual  
of the flat screen 

 
tighten 
socket head screws 
M6x35 (SW 5) 

(e) secure flat screen 

Media wall 
fitting flat screen 

last updated 10/2015 

 
view from rear, inside 

 
max.payload: 35 kg 


